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PUBDET-2018       81230001 

      Subject: Life Sciences                (Booklet Number) 

Duration: 90 minutes                                  Full Marks: 100 

Instructions 

1. All questions are of objective type having four answer options for each. Only one option is 

correct. Correct answer will carry full marks 2. In case of incorrect answer or any 

combination of more than one answer, ½ marks will be deducted. 

2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked 

A, B, C, or D. 

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the 

respective bubbles. 

4. Do not make any stray mark on the OMR. 

5. Write question booklet number and your roll number carefully in the specified locations of 

the OMR. Also fill appropriate bubbles. 

6. Write your name (in block letter), name of the examination centre and put your full 

signature in appropriate boxes in the OMR. 

7. The OMRs will be processed by electronic means. Hence it is liable to become invalid if 

there is any mistake in the question booklet number or roll number entered or if there is 

any mistake in filling corresponding bubbles. Also it may become invalid if there is any 

discrepancy in the name of the candidate, name of the examination centre or signature of 

the candidate vis-a-vis what is given in the candidate’s admit card. The OMR may also 

become invalid due to folding or putting stray marks on it or any damage to it. The 

consequence of such invalidation due to incorrect marking or careless handling by the 

candidate will be sole responsibility of candidate.  

8. Candidates are not allowed to carry any written or printed material, calculator, pen, docu-

pen, log table, any communication device like mobile phones etc. inside the examination 

hall. Any candidate found with such items will be reported against & his/her candidature 

will be summarily cancelled. 

9. Rough work must be done on the question paper itself. Additional blank pages are given in 

the question paper for rough work. 

10. Hand over the OMR to the invigilator before leaving the Examination Hall. 

11. This paper contains questions in both English and Bengali. Necessary care and precaution 

were taken while framing the Bengali version. However, if any discrepancy(ies) is /are 

found between the two versions, the information provided in the English version will stand 

and will be treated as final 
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1.  The cell wall of collenchyma is mainly made up of 

 (A) Lignin and cellulose  (B) Lignin and pectin  

 (C) Lignin, cellulose and pectin (D) Cellulose, hemicellulose and pectin 

 

−L¡−meL¡Cj¡l −L¡o fË¡Q£l fËd¡eax −k…¢m ¢c−u °al£ 

 (A) ¢mN¢ee J −pm¤−m¡S   (B) ¢mN¢ee J −fLÚ¢Ve 

 (C) ¢mN¢ee, −pm¤−m¡S J −fLÚ¢Ve  (D) −pm¤−m¡S, −q¢j−pm¤−m¡S J −fLÚ¢Ve 

2.  Which of the following fruit is an example of hesperidium? 

(A) Fig  (B) Orange (C) Pomegranate (D) Cucumber 

 

¢e−jÀ¡š² −L¡e gm¢V −qp−f¢l¢Xu¡j Hl Ec¡qlZ? 

 (A) X¥j¤l (B) Ljm¡−mh¤ (C) −hc¡e¡ (D) nn¡ 

3.  Companion cells are associated with 

 (A) Xylem of angiosperms (B) Phloem of gymnosperms 

 (C) Xylem of gymnosperms (D) Phloem of angiosperms 

 

p‰£−L¡o …¢m k¡l p¡−b pÇf¢LÑa 

 (A) …çh£S£l S¡C−mj  (B) hÉš²h£S£l −gÓ¡−uj 

 (C) hÉš²h£S£l S¡C−mj  (D) …çh£S£l −gÓ¡−uj 

4.  Which one of the following helps in cell division and cell differentiation in plants? 

 (A) Kinetin  (B) Ethylene  

 (C) IBA  (D) IAA 

 

¢e−jÀ¡š² −L¡e¢V E¢á−cl −c−q −L¡o ¢hi¡Se J ¢Xg¡−le¢p−upe-H p¡q¡kÉ L−l? 

 (A) L¡C−e¢Ve   (B) C¢b¢me  

 (C) BC.¢h.H (IBA)  (D) BC.H.H (IAA) 
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5.  Choose the correct chronological order of the periods of Mesozoic era 

 (A) Cretaceous – Triassic - Jurassic (B) Jurassic – Cretaceous – Triassic 

 (C) Triassic – Jurassic - Cretaceous (D) Triassic – Cretaceous – Jurassic 

 

−j−p¡−S¡CL era- Hl p¢WL L¡mœ²¢jL period …¢m ¢Q¢q²a Ll 

 (A) ¢œ²V¡¢pu¡p - VÊ¡u¡¢pL - S¥l¡¢pL  (B) S¥l¡¢pL - ¢œ²V¡¢pu¡p - VÊ¡u¡¢pL 
 (C) VÊ¡u¡¢pL - S¥l¡¢pL - ¢œ²V¡¢pu¡p   (D) VÊ¡u¡¢pL - ¢œ²V¡¢pu¡p -  S¥l¡¢pL 

6.  Elaioplasts are concerned with 

 (A) Carbohydrates  (B) Fats and oils  

 (C) Proteins   (D) Minerals 

 

Cm¡−u¡fÔ¡ØV k¡l p¡−b pÇfÑ¢La 

 (A) −nÄap¡l   (B) −pÀq J °am S¡a£u fc¡bÑ  

 (C) −fË¡¢Ve   (D) M¢eS fc¡bÑ 

7.  During DNA replication the strands are separated by 

 (A) Helicase   (B) Gyrase 

 (C) Topoisomerase  (D) DNA Polymerase 

 

¢X He H (DNA) Ae¤¢mfe (replication)-Hl pju nª´Mm c¤¢V ¢hiš² qu k¡l à¡l¡ 

 (A) −q¢m−LS   (B) N¡C−lS 

 (C) −V¡−f¡BC−p¡j¡−lS  (D) ¢X He H (DNA) f¢mj¡−lS 

8.  Which of the following coenzymes are related with Vitamin B2?  

 (A) NAD, FAD (B) NAD, FMN (C) FAD, FMN (D) NADP, FMN 

 

¢ejÀ¢m¢Ma −L¡e −L¡-HeS¡Cj …¢m ¢iV¡¢je B2 Hl p−‰ pÇfÑ¢La? 

 (A) NAD, FAD (B) NAD, FMN (C) FAD, FMN (D) NADP, FMN 
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9.  Vitamin B12 absorption in human body is assisted by 

 (A) Gastric lipase   (B) Gastrin 

 (C) Castle’s intrinsic factor  (D) Cholesterol 

 

j¡eh−c−q ¢iV¡¢je B12 −n¡o−Z pq¡ua¡ L−l  

 (A) f¡LÙÛm£¢ÙÛa m¡C−fS  (B) NÉ¡¢ØVÊe 

 (C) L¡pÚ−ml Ce¢VÊe¢pL gÉ¡ƒl  (D) −L¡−m−ØVlm 

10.  Receptor for touch sensation is  

 (A) Nociceptor  (B) End organ of Ruffini 

 (C) Meissner’s Corpuscle (D) Hair cell 

 

ØfnÑ Ae¤i¢̈al NË¡qL¢V qm 

 (A) e¢p−pfVl   (B) Hä AlNÉ¡e AgÚ l¦¢g¢e 

 (C) −jSe¡lpÚ Llf¡pmÚ  (D) −Ln −L¡n (−qu¡l −pm)
 

11.  Which cells in the renal tubule are the sodium chloride load detectors? 

 (A)  Cells of Macula densa (B) Cells of proximal convoluted tubule   

 (C) Distal convoluted tubule  (D) Cells of the loop of Henle 

 

hª‚£u e¡¢mL¡l −L¡e −L¡n −p¡¢Xu¡j −LÓ¡l¡CX Hl i¡l ¢eZÑ¡uL ¢qp¡−h L¡S L−l? 

 (A) jÉ¡L¥m¡ −Xep¡l −L¡n  (B) fËbj pwhaÑ e¡¢mL¡l −L¡n  

 (C) c§lhaÑ£ pwhaÑ e¡¢mL¡l −L¡n (D) −qe−m-l m¤f Hl −L¡n 

12.  Which of the following hormone is glycoprotein in nature? 

 (A) Relaxin     (B) Insulin 

 (C) Thyroid stimulatory hormone (TSH) (D) Aldosterone 

 

e£−Ql −L¡e ql−j¡e¢V NÔ¡C−L¡−fË¡¢Ve −N¡−œl? 

 (A) ¢lmÉ¡¢„e     (B) Cep¤¤¢me 

 (C) b¡Cl−uX ¢ØVj¤−m¢Vw ql−j¡e (TSH)  (D) AÉ¡m−X¡−ØV−l¡e 
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13.  In taxonomic hierarchy ‘class’ comes 

 (A) Before family (B) Before order 

 (C) After order (D) After division/phylum 

 

VÉ¡−„¡e¢jl AhÙÛ¡eNa L¡W¡−j¡u LÓ¡p/−nËZ£ B−p 

 (A) −N¡−œl B−N (B) f−hÑl B−N  

 (C) f−hÑl f−l  (D) ¢hi¡N/g¡Cm¡−jl f−l 

14.  The cell organelle associated with photorespiration is 

 (A) Mesosome  (B) Ribosome  (C) Peroxisome (D) Lysosome 

 

p¡−m¡L nÄp−el p−‰ k¤š² −L¡o A‰¡Z¤¢V qm 

 (A) −j−p¡−S¡j  (B) l¡C−h¡−S¡j  (C) f¡l¢„−S¡j  (D) m¡C−p¡−S¡j 

15.  Kranz anatomy is found in  

 (A) Euphorbia hirta (B) Citrus indica (C) Mangifera indica (D) Zea mays 

 

œ²¡eSÚ AÉ¡e¡V¢j −cM¡ k¡u k¡q¡−a 

 (A) Euphorbia hirta (B) Citrus indica (C) Mangifera indica (D) Zea mays 

16.  Holandric genes are present in 

 (A) X- chromosome  (B) Autosomes 

 (C) Y- chromosome  (D) X and Y- chromosomes 

 

qmAÉ¡e¢XÊL S£e −kM¡−e f¡Ju¡ k¡u 

 (A) X- −œ²¡−j¡−S¡j  (B) A−V¡−S¡j 

 (C) Y - −œ²¡−j¡−S¡j  (D) X Hhw Y −œ²¡−j¡−S¡jp 
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17.  Hydroponics is a method of growing plants in 

 (A) Soils enriched with water  (B) Water with some soils 

 (C) Acidic water    (D) Mineral enriched water without soils 

 

q¡C−XÊ¡f¢eLÚp HL¢V fÜ¢a k¡−a E¢ác f¡me Ll¡ qu  

 (A) A¢a¢lš² ¢i−S j¡¢V−a   (B) p¡j¡eÉ jª¢šL¡ pjªÜ S−m  

 (C) AÇm S−m    (D) M¢eS fc¡bÑ pjªÜ jª¢šL¡ ¢hq£e S−m 

18.  The value of Respiratory Quotient (RQ) is more than one when 

 (A) Carbohydrates are oxidized in respiration 

 (B) Fats are oxidized in respiration 

 (C) Organic acids are oxidized in respiration  

 (D) Proteins are oxidized in respiration 

 

−lp¢f−lV¢l −L¡−n−¾Vl j¡e H−Ll −hn£ qu kMe 

 (A) −nÄap¡l nÄpeL¡−m S¡¢la qu 

 (B) −pÀqS¡a£u fc¡bÑ nÄpeL¡−m S¡¢la qu  

 (C) °S¢hL AÇm fc¡bÑ nÄpeL¡−m S¡¢la qu 

 (D) −fË¡¢Ve S¡a£u fc¡bÑ nÄpeL¡−m S¡¢la qu 

19.  F1 particle of mitochondria is called 

 (A) Episome  (B) Ribosome  (C) Oxysome  (D) Sphaerosomes 

 

j¡C−V¡Le¢XÊu¡l F1 LZ¡−L h−m 

 (A) H¢f−S¡j  (B) l¡C−h¡−S¡j  (C) A¢„−S¡j  (D) −Øg−l¡−S¡j 

20.  Extra embryonic membranes are derived from 

 (A) Polar bodies  (B) Trophoblast  

 (C) Inner cell mass  (D) Follicle cells 

 

ï¥Zh¢qxÙÛ fcÑ¡ °al£ qu 
 (A) −f¡m¡l h¢X −b−L  (B) VÊ−g¡hÔ¡ØV −b−L  

 (C) ¢ia−ll −L¡npj¢ø −b−L (D) g¢mLÚm −L¡n −b−L 
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21.  Wing feathers of birds are called 

 (A) Remiges  (B) Rectrices  (C) Filoplumes (D) Conture 

 

f¡¢Ml X¡e¡l f¡mL−L h−m 

 (A) −l¢j−Sp  (B) −l¢ƒÊ−pp   (C) g¡C−m¡¢fÔEjpÚ (D) L¢¾VEl 

22.  In human, Gastric Inhibitory Protein (GIP) is secreted from 

 (A) I cells of duodenum and jejunum  

 (B) K cells of duodenum and jejunum  

 (C) D cells of  stomach and small intestine 

 (D) S cells of duodenum 

 

j¡eh−c−q NÉ¡pÚ¢VÊL Ce¢q¢hVl£ −fË¡¢Ve¢V (GIP) r¢la qu 

 (A) ¢XJ−Xe¡j Hhw −SS¥e¡−jl I −L¡o −b−L 

 (B) ¢XJ−Xe¡j Hhw −SS¥e¡−jl K −L¡o −b−L 

 (C) f¡LÙÛm£ Hhw r¥â¡−¿»l D −L¡o −b−L 

 (D) ¢XJ−Xe¡−jl  S −L¡o −b−L  

23.  For which disease AZT is used as medicine? 

 (A) Kala - azar   (B) Tuberculosis and AIDS  

 (C) Malaria and AIDS   (D) AIDS 

 

−L¡e hÉ¡¢d−a AZT Kod ¢q−p−h hÉhq©a qu? 

 (A) L¡m¡SÆl   (B) kr¡ J HXpÚ 

 (C) jÉ¡−m¢lu¡ J HXpÚ  (D) HXpÚ 
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24.  Match the contents of column I with that of column II 

Column I Column II 

a. Copper - T i. Inhibits ovulation 

b. Vasectomy ii. Inhibits implantation of embryo 

c. Contraceptive pills iii. Inhibits entry of sperm in cervix 

d. Condom iv. Responsible for absence of sperm in semen 

 

 (A) a-ii, b-iv, c –i, d-iii (B) a-iv, b-i, c -iii, d-ii 

 (C) a-iii, b-ii, c –iv, d-i (D) a-i, b-ii, c –iii, d-iv 

 

Ù¹ñ I-Hl A¿¹NÑa ¢ho−ul p−‰ Ù¹ñ II-Hl A¿¹NÑa ¢ho−ul −jm håe Ll : 

Ù¹ñ - I Ù¹ñ - II 

a. Lf¡l-T i. ¢Xð¡Z¤ ¢expl−Z h¡d¡ −cu 

b. iÉ¡−pLV¢j ii. ï¥−Zl −l¡fe fË¢œ²u¡u h¡d¡ −cu 

c. LeVÊ¡−pf¢Vi ¢fm iii. p¡¢iÑ−„ öœ²¡Z¤l fË−h−n h¡d¡ −cu 

d. L−ä¡j  iv. h£−kÑ öœ²¡Z¤l Ae¤f¢ÙÛ¢al SeÉ c¡u£ 

 

 (A) a-ii, b-iv, c –i, d-iii (B) a-iv, b-i, c -iii, d-ii 

 (C) a-iii, b-ii, c –iv, d-i (D) a-i, b-ii, c –iii, d-iv   

25.  In human body, kidney is formed from 

 (A) Ectoderm  (B) Mesoderm  (C) Endoderm  (D) Amnion 

 

j¡eh−c−q hª‚ °al£ qu k¡ −b−L 

 (A) H−ƒ¡X¡jÑ  (B) −j−p¡X¡jÑ  (C) H−ä¡X¡jÑ  (D) AÉ¡j¢eJe 
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26.  In which of the following structures ‘tectum’ is found? 

 (A) Medulla oblongata (B) Cerebellum 

 (C) Mesencephalon  (D) Telencephalon 

 

¢ejÀ¢m¢Ma −L¡e NW−e ‘−VLV¡j’ AhÙÛ¡e L−l? 

 (A) p¤¤o¤jÀ¡ n£oÑL   (B) mO¤ j¢Ù¹×L 

 (C) −j−pe−pg¡me  (D) −V−me−pg¡me  

27.  If Henle’s loop is absent,which of the following event will occur? 

 (A) Urine will be hypotonic  (B) Urine formation will stop 

 (C) Urine will be hypertonic   (D) Urine will contain lots of pus cells 

 

‘−qe−ml m¤f’ Hl Ae¤f¢ÙÛ¢a−a ¢ejÀ¢m¢Ma −L¡e OVe¡¢V OV−h ? 

 (A) j§œ mO¤p¡lL q−h  (B) j§œ °al£ hå q−h  

 (C) j§œ A¢ap¡lL q−h  (D) j§−œ fËQ¥l f§yS −L¡n b¡L−h 

28.  The main constituent of pulmonary surfactant is  

 (A) Fatty acid   (B) Lipoprotein  

 (C) Polysaccharide  (D) Dipalmitoylphosphatidylcholine 

 

‘f¡m−j¡e¡¢l p¡lgÉ¡ƒ¡−¾Vl’ fËd¡e Ef¡c¡e¢V qm 

 (A) gÉ¡¢V AÉ¡¢pX  (B) m¡C−f¡−fË¡¢Ve 

 (C) hýnÑLl¡ h¡ f¢mpÉ¡L¡l¡CX (D) X¡Cf¡¢jVCmgpgÉ¡¢V¢Xm−L¡¢me 

29.  Sickle cell anemia is an autosomal hereditary disorder , in which hemoglobin–S is formed, 

that differs from normal hemoglobin- A by replacement of glutamic acid at 6th position of  β – 

chain by 

 (A) Aspartic acid  (B) Lysine  (C) Serine (D) Valine 

 

¢pLmÚ −pm AÉ¡¢e¢ju¡ q−m¡ HL¢V A−V¡−S¡j S¢ea hwnN¢al hÉ¡¢d −kM¡−e ¢q−j¡−NÔ¡¢he-Hp  °al£ qu, 
k¡ ü¡i¡¢hL ¢q−j¡−NÔ¡¢he-H −b−L fªb¢LL«a qu aMe, kMe ¢e−jÀ¡š² HL¢V AÉ¡j¡C−e¡ AÉ¡¢pX ¢hV¡ 
nª´M−ml oùÙÛ¡−e Ah¢ÙÛa NÔ¥V¡¢jL AÉ¡¢pX−L fË¢aÙÛ¡¢fa L−lz −pC AÉ¡j¡C−e¡ AÉ¡¢pX¢V q'm 
 
 (A) AÉ¡pf¡l¢VL AÉ¡¢pX  (B) m¡C¢pe  (C) −p¢le (D) iÉ¡¢me 
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30.  In which lobe of cerebrum the center for olfaction is located? 

 (A) Temporal  (B) Occipital  (C) Frontal (D) Parietal 

 

…l¦j¢Ù¹−×Ll −L¡e Mä−L BOË¡Z −L¾cÊ Ah¢ÙÛa? 

 (A) −V−Çf¡l¡m  (B) A¢„¢fV¡m  (C) é¾V¡m (D) fÉ¡l¡CV¡m
 

31.  Which of the following provides evidence for organic evolution as a living connecting link 

 (A) Archaeopteryx, between reptiles and birds 

 (B) Lung fish, between pisces  and reptiles  

 (C) Sphenodon, between reptiles and birds 

 (D) Duckbill platypus, between reptiles and mammals 

 

¢e−Ql −L¡e¢V °Sh ¢hhÑa−el HL¢V S£h¿¹ L¡−e¢ƒw ¢m−ˆl fËj¡Z −cu 

     (A) Archaeopteryx, pl£pªf J fr£l j¡−T 

 (B) m¡w¢gn, j¡R J pl£pª−fl j¡−T 
 (C) Sphenodon, pl£pªf J fr£l j¡−T  

 (D) qwpQ’¥ fÔ¡¢Vf¡p,  pl£pªf J Ù¹eÉf¡u£l j¡−T
 

32.  Glochidium larva occurs in  

 (A) Unio (B) Pila (C) Mytilus (D) Sepia 

 

NÔ¢Q¢Xu¡j m¡iÑ¡ f¡Ju¡ k¡u k¡q¡−a 
 (A) Unio (B) Pila (C) Mytilus (D) Sepia 

33.  Animals with pseudocoelom are  

 (A) Jelly fish and leech (B) Wuchereria and hookworm 

 (C) Starfish and loligo  (D) Crab and spider 

 

RcÈ¢p−m¡j£u fË¡Z£l¡ qm 

  (A) −S¢m¢gn Hhw −Sy¡L (B) Wuchereria Hhw ýLL«¢j  

 (C) a¡l¡j¡R Hhw ú¥CX  (D) Ly¡Ls¡ Hhw j¡Lsp¡
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34.  Which ion is responsible for unmasking of the active sites of myosin during cross bridge 

activity in  muscle contraction? 

 (A) Potassium  (B) Magnesium (C) Calcium  (D) Sodium 

−f¢n pw−L¡Q−e œ²n ¢hË−Sl L¡kÑavfla¡u j¡−u¡¢p−el p¢œ²u ÙÛ¡e−L EeÈ¥š² Ll¡l SeÉ −L¡e Bue 
c¡u£ ? 

  (A) fV¡¢nu¡j   (B) jÉ¡N−e¢pu¡j  (C) LÉ¡m¢pu¡j  (D) −p¡¢Xu¡j 

35.  The concept of ecological pyramid was developed by 

 (A) A.G.Tansley (B) C. Elton (C) G. Hutchinson (D) R. Lindeman 

 

C−L¡m¢SLÉ¡m ¢fl¡¢j−Xl d¡lZ¡¢V ¢k¢e ¢c−u−Re 

 (A) A.G.Tansley (B) C. Elton (C) G. Hutchinson (D) R. Lindeman 

36.  Which one of the following is a decomposer? 

 (A) Blue green algae  (B) Caterpillar  

 (C) Saprophytic fungi  (D) Spider 

 

¢e−jÀ¡š² −L¡e¢V ¢XL−Çf¡S¡l? 

 (A)  e£m ph¤S °nh¡m   (B)  LÉ¡V¡l¢fm¡l  

 (C)  pÉ¡−fË¡g¡C¢VL Rœ¡L  (D)  j¡Lsp¡
 

37.  The two sub-units of ribosome remain united at a critical ion level of  

 (A) Calcium   (B) Magnesium (C) Manganese (D) Copper 

 

l¡C−h¡−S¡−jl c¤¢V EfAwn HLp−‰ S¥−s b¡−L −k Bu−el Ffk¤š² j¡œ¡u 

  (A) LÉ¡m¢pu¡j  (B) jÉ¡N−e¢pu¡j  (C) jÉ¡‰¡¢eS  (D) a¡j¡
 

38.  Which of the two hormones are antagonistic to each other functionally? 

 (A) Insulin and Secretin  (B) FSH and L.H 

 (C) Growth hormone and Insulin (D) Glucagon and Insulin 

 

−L¡e c¤¢V ql−j¡−el L¡kÑ flØf−ll ¢h−l¡d£ ? 

 (A) Cep¤¤¢me Hhw ¢p¢œ²¢Ve  (B) FSH J LH 

 (C) −NË¡b ql−j¡e J Cep¤¤¢me  (D) NÔ¥L¡Ne J Cep¤¤¢me
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39.  From which of the following organ erythropoietin is released? 

 (A) Adrenal medulla  (B) Pancreas  

 (C) Kidney   (D) Thymus 

 

¢ejÀ¢m¢Ma −L¡e A‰¢V −b−L H¢l−bË¡f−u¢Ve ¢eNÑa qu ? 

 (A) AÉ¡−XÊe¡m −jX¡m¡  (B) ANÀÉ¡nu 

 (C) hª‚    (D) b¡Cj¡p
 

40.  The jumping gene is called  

 (A) Cistron  (B) Transposon (C) Recon (D) Muton 

 

S¡¢Çfw ¢Se…¢m−L h−m 

 (A) ¢ppVÊe  (B) VÊ¡¾p−f¡Se  (C) −lLe (D) ¢jEVe
 

41.  Vascular bundles in roots are  

 (A) Radial, endarch  (B) Radial, exarch 

 (C) Conjoint, endarch  (D) Conjoint, exarch 

 

j§−ml e¡¢mL¡h¡¢äm…¢m qm 

 (A) Al£u, Hä¡QÑ   (B) Al£u, H„¡QÑ  

 (C) pwk¤š², Hä¡QÑ   (D) pwk¤š², H„¡QÑ 
 

42.  Which of the following disease is hereditary? 

 (A) Cretinism  (B) Cystic fibrosis  (C) Sclerosis  (D) Pelagra 

 

¢e−jÀ¡š² −L¡e −l¡N¢V hwnNa ? 

 (A) −œ²¢V¢epÚj  (B) ¢p¢ØVL g¡C−hË¡¢pp  (C) −ú−m−l¡¢pp  (D) −fm¡NË¡
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43.  The term biodiversity means  

 (A) Species diversity only  

 (B) Genetic diversity within species only 

 (C) Ecological diversity of the community only 

 (D) Species, genetic and ecological diversity  

 

‘S£h°h¢Qœ’ Lb¡l AbÑ qm  

 (A)  −Lhmj¡œ fËS¡¢aNa ¢h¢iæa¡   

 (B)  −Lhmj¡œ fËS¡¢aAd£eÙÛ S£eNa ¢h¢iæa¡ 

 (C)  HL¢V L¢jE¢e¢Vl h¡Ù¹¥¹a¿»£u ¢h¢iæa¡ 

 (D)  fËS¡¢aNa, S£eNa Hhw h¡Ù¹¥¹a¿»£u ¢h¢iæa¡
 

44.  De - differentiation means 

 (A) Conversion of meristematic tissues to permanent tissues 

 (B) Conversion of permanent tissues to  meristematic tissues 

 (C) Degeneration of permanent tissue 

 (D) Degeneration of meristematic tissue 

 

¢X - ¢Xg¡−le¢p−un¡e hm−a −h¡T¡u 
 (A) i¡SL Lm¡−L ÙÛ¡u£Lm¡u f¢lZa Ll¡ 

 (B) ÙÛ¡u£Lm¡−L i¡SL Lm¡u f¢lZa Ll¡ 

 (C) ÙÛ¡u£Lm¡l ¢he¡n 

 (D) i¡SL Lm¡l  ¢he¡n
 

45.  In eukaryotic cells ribosomal RNA is actively synthesized in 

 (A) Nucleoplasm (B) Ribosome  (C) Lysosome  (D) Nucleolus 

 

CELÉ¡¢lJ¢VL −L¡−n l¡C−h¡−S¡j¡m RNA p¢œ²ui¡−h pw−nÔ¢oa qu −kM¡−e 
 (A) ¢eE¢LÓJfÔ¡Sj (B) l¡C−h¡−S¡j  (C) m¡C−p¡−S¡j  (D) ¢eE¢LÓJm¡p
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46.   Match the contents of column I with that of column II 

Column I Column II 

a) Robert Brown i. Lysosome 

b) Porter and Thompson   ii. Nucleus 

c) De Duve iii. Endoplasmic reticulum 

  

 A) a-ii, b-iii, c–i  B) a-i, b-ii, c–iii 

 C) a-ii, b-i, c–iii  D) a-iii, b-i, c–ii 

 

Ù¹ñ I-Hl A¿¹NÑa ¢ho−ul p−‰ Ù¹ñ II-Hl A¿¹NÑa ¢ho−ul −jm håe Ll : 

Ù¹ñ - I Ù¹ñ - II 

a) lh¡VÑ hË¡Ee i. m¡C−p¡−S¡j 
b) −f¡VÑ¡l J bÇfpe ii. ¢eE¢LÓu¡p 
c) ¢X ¢XEi iii. H−™¡fÔ¡S¢jL −l¢VL¥m¡j 

 

 A) a-ii, b-iii, c–i  B) a-i, b-ii, c–iii 

 C) a-ii, b-i, c–iii  D) a-iii, b-i, c–ii 

47.  Association between two organisms, without any physiological exchange, in which one is 

benefitted, while the other is neither benefitted nor harmed is known as  

 (A) Commensalism  (B) Mutualism  

 (C) Amensalism  (D) Symbiosis 

 

c¤¢V fË¡Z£l pq AhÙÛ¡−e k¢c HL¢V fË¡Z£ EfL«a qu J AeÉ fË¡Z£¢Vl −L¡e EfL¡l h¡ r¢a e¡ qu - 
aMe −pC pÇfLÑ−L h−m 
 (A) L−jen¡¢mSjÚ  (B) ¢jEQ¥u¡¢mSjÚ   

 (C) AÉ¡−jep¡¢mSjÚ  (D) ¢pjh¡−u¡¢pp 
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48.  Existence of marsupials in Australia and New Zealand established  

 (A) Continental drift  (B) Natural selection 

 (C) Genetic drift  (D) Theory of migration 

 

A−ØVÊ¢mu¡ Hhw ¢eE¢SmÉ¡−ä j¡lp¤¤¢fu¡mp−cl Ef¢ÙÛ¢a fËj¡Z L−l 

 (A) Le¢V−eeV¡m ¢XÊgV  (B) eÉ¡Q¡l¡m ¢p−mLne (fË¡L«¢aL ¢ehÑ¡Qe ) 

 (C) −S−e¢VL ¢XÊgV  (D) ¢bJl£ Ag j¡C−NËn¡e 
 

49.  Corpus luteum secretes  

 (A) Progesterone and estrogen (B) LH  

 (C) Only progesterone  (D) Progesterone and LH 

 

Llf¡p m¤¢Vu¡j −b−L ¢expªa qu 

 (A) fË−S−ØV−l¡e J C−ØVÊ¡−Se  (B) Hm. HCQ (LH)  
 (C) öd¤ j¡œ fË−S−ØV−l¡e  (D) fË−S−ØV−l¡e J LH 

50.  India is considered as a part of  

 (A) Neotropical realm  (B) Oriental realm 

 (C) Ethiopian realm  (D) Neaarctic realm 

 

i¡lahoÑ −k ï M−äl Awn 

 (A) ¢eJVÊ¢fLÉ¡m ¢lu¡mjÚ  (B) J¢l−u¾V¡m ¢lu¡mjÚ  

 (C) C¢bJ¢fu¡e ¢lu¡mjÚ  (D) ¢eBLÑ¢VL ¢lu¡mjÚ 
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¢e−cÑn¡hm£ 

1. HC fËnÀf−œl ph fËnÀC Ah−S¢ƒi fËnÀ Hhw fË¢a¢V fË−nÀl Q¡l¢V pñ¡hÉ Ešl −cJu¡ 
B−R k¡l HL¢V j¡œ p¢WLz p¢WL Ešl ¢c−m 2 eðl f¡−hz i¥m Ešl ¢c−m Abh¡ 
HL¡¢dL Ešl ¢c−m ½ eðl L¡V¡ k¡−hz 

2. OMR f−œ A,B,C,D ¢Q¢q²a p¢WL Ol¢V il¡V L−l Ešl ¢c−a q−hz 

3. OMR f−œ Ešl ¢c−a öd¤j¡œ L¡−m¡ h¡ e£m hm f−u¾V −fe hÉ¡hq¡l Ll−hz 

4. OMR f−œ ¢e¢cÑø ÙÛ¡e R¡s¡ AeÉ −L¡b¡J −L¡e c¡N −c−h e¡z 

5. OMR f−œ ¢e¢cÑø ÙÛ¡−e fËnÀf−œl eðl Hhw ¢e−Sl −l¡m eðl A¢a p¡hd¡ea¡l p¡−b 
¢mM−a q−h Hhw fË−u¡Se£u Ol…¢m f§lZ Ll−a q−hz 

6. OMR f−œ ¢e¢cÑø ÙÛ¡−e ¢e−Sl e¡j J fl£r¡ −L−¾cÊl e¡j ¢mM−a q−h Hhw ¢e−Sl pÇf¨ZÑ 
p¡rl ¢c−a q−hz 

7. OMR Ešlfœ¢V C−mLVÊ¢eL k−¿»l p¡q¡−kÉ fs¡ q−hz p¤¤al¡w fËnÀ−fœl eðl h¡ −l¡m 
eðl i¥m ¢mM−m Abh¡ i¥m Ol il¡V Ll−m Ešlfœ¢V A¢eh¡kÑ L¡l−Z h¡¢am q−a 
f¡−lz HR¡s¡ fl£r¡bÑ£l e¡j, fl£r¡ −L−¾cÊl e¡j h¡ p¡r−l −L¡e i¥m b¡L−mJ Ešl fœ 
h¡¢am q−u −k−a f¡−lz OMR Ešlfœ¢V i¡yS q−m h¡ a¡−a Ae¡hnÉL c¡N fs−mJ 
h¡¢am q−u −k−a f¡−lz fl£r¡bÑ£l HC dl−el i¥m h¡ ApaÑLa¡l SeÉ Ešlfœ h¡¢am 
q−m HLj¡œ fl£r¡bÑ£ ¢e−SC a¡l SeÉ c¡u£ b¡L−hz 

8. −j¡h¡Cm−g¡e, LÉ¡mL¥−mVl, pÔ¡CXl¦m, mN−Vhm, q¡aO¢s, −lM¡¢Qœ, NË¡g h¡ −L¡e dl−Zl 
a¡¢mL¡ fl£r¡ L−r Be¡ k¡−h e¡z Be−m −p¢V h¡−Su¡ç q−h Hhw fl£r¡bÑ£l  JC 
fl£r¡ h¡¢am Ll¡ q−hz 

9. fËnÀf−œl −n−o l¡g L¡S Ll¡l SeÉ gy¡L¡ S¡uN¡ −cJu¡ B−Rz AeÉ −L¡e L¡NS HC 
L¡−S hÉhq¡l Ll−h e¡z 

10. fl£r¡ Lr R¡s¡l B−N OMR fœ AhnÉ C f¢lcnÑL−L ¢c−u k¡−hz  

11. HC fËnÀf−œ Cwl¡S£ J h¡wm¡ Eiu i¡o¡−aC fËnÀ −cJu¡ B−Rz h¡wm¡ j¡dÉ−j fËnÀ °al£l 
pju fË−u¡Se£u p¡hd¡ea¡ J paLÑa¡ Ahmðe Ll¡ q−u−Rz a¡ p−šÄJ k¢c −L¡e Ap‰¢a 
mr Ll¡ k¡u, −p−r−œ Cwl¡S£ j¡dÉ−j −cJu¡ fËnÀ ¢WL J Q¥s¡¿¹ h−m ¢h−h¢Qa q−hz 

 
 


